ZIAEIH{AIE 70| Q)
S~ Seix|, LIAL &5

ESHY/NE olD|x|

© HEINRICH KIPP WERK GmbH & Co. KG

.T'_I‘

AR e Q7bAM Z45|M,
LHAF 32, BElotnls, A,

EM OlF2]:
AR T

LEAb £2|E, 4- &3t %2l

Ha g, dst AMEl, ok W 4 akst %2l

AERIZ|A AE] :
LA 212, FZEE X2
= E, g3t 2 Ao, FHE A2l

HAIE 2], 43| RAL7021.

AP E FHIEX| HAM

e,

LIAF &2 &kl MEHoZ2(ATH MEBE|= 2
OI|_|[:

= .

AL
S5 M HE.

AMIME:
AT 0| & KO665.
ofe BEEZ2 23t 1™ ME K2146.

www.kipp.com - info@kipp.com

1/2



°
=ZAalLAE > Ool— ;S O] AEI =SS A A
=oAE A O8l0] = B2 B{H e AE =2 AH|oIA 2l
A = X1 X1 ILS
HIA SEA, LIAI &= 1 &3 L E Z8t
(=t}
e
™ )
-~
[)-0.02
-0,04
=—
Z= Q0o
FEHS B Az EtQl D D1 D2 L L1L2 AEE3 SW1 Fx30° A= EbA
S EbA E=2
F12E N F29%. N
K1097.97903 AE] CP 3 M6x0,75 14 255 6 5 35 8 0,8 4 10
K1097.97004 AE] CP 4 M8x1 18 295 6 6 4 10 1 12
K1097.97105 AEl CP 5 M10x1 21 345 8 7 5 13 1,3 12
K1097.97206 AEl CP 6 M12x1,5 25 41,7 10 8 6 14 1,8 14
K1097.97308 AEl CP 8 M16x1,5 33 54 12 10 8 19 2,3 28
K1097.97410 AEl CP 10 M20x1,5 33 61 15 12 10 22 2,8 32
K1097.197903 AHQIFA AE CP 3 M6x0,75 14 255 6 5 35 8 0,8 10
K1097.197004 AHQIHA AR CP 4 M8x1 18 295 6 6 4 10 1 12
K1097.197105 AHQIFA AE CP 5 M10x1 21 345 8 7 5 13 1,3 12
K1097.197206 AHQIFA AE CP 6 M12x15 25 41,7 10 8 6 14 1,8 14
K1097.197308 AHQIFA AE CP 8 M16x1,5 33 54 12 10 8 19 2,3 28
K1097.197410 AHQIFA AE CP 10 M20x1,5 33 61 15 12 10 22 2,8 32

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/2



